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Practice B

I8 (Jsing Proportional Relationships

Refer to the figure for Exercises 1-3. A city is planning an
outdoor concert for an Independence Day celebration. To
hold speakers and lights, a crew of technicians sets up a
scaffold with two platforms by the stage. The first platform
is 8 feet 2 inches off the ground. The second platform is

7 feet 6 inches above the first platform. The shadow of the
first platform stretches 6 feet 3 inches across the ground.

1. Explain why AABC is similar to AADE.
(Hint: The sun’s rays are parallel.)

7f6in.

gft2in.

\
A 6ft3in. B

2. Find the length of the shadow of the second platform in feet
and inches to the nearest inch.

3. A 5-foot-8-inch-tall technician is standing on top of the second
platform. Find the length of the shadow the scaffold and the
technician cast in feet and inches to the nearest inch.

Refer to the figure for Exercises 4-6. Ramona wants to
renovate the kitchen in her house. The figure shows a
blueprint of the new kitchen drawn to a scale of 1 cm : 2 ft.
Use a centimeter ruler and the figure to find each actual
measure in feet.

4. width of the kitchen 5. length of the kitchen

6. width of the sink 7. area of the pantry

Given that DEFG ~ WXYZ, find each of the following.
W X

D E
P =28 mm
A = 40 mm2

N 10 mm b= = 15 mm ’

8. perimeter of WXYZ

9. area of WXYZ

UU

Sink

Stove

Pantry
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Reading Strategies Practice C
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5. L 4. 8:1250r125:8
M 5. The ratio of the volumes is the cube of
K the similarity ratio.
Reteach
J 1. 6m 2.10m
6. 50° ; M_LJ 3. 7m 4. 1m
MK JK 5. 45 in. by 28 in. 6. 22.5in. by 14 in.
LESSON 7-5 7. 15in. by 9% in. 8. 6.75in. by 4.2 in.
Practice A 9. P=48 cm; A =140 cm?
_ . _ 2
_A_Czﬁsogzﬁ;m::zm 10. P=81m; A=288m
BC EF 1 7 Chall
alienge
2. 10 ft 3. 10 yards ) Ltgb i ntwh h |
. Le e the point wnere the rulers are
4. 120 yd 5. about 53 yd Poe ob 60
1 joined. Then: —=—=——+; Z0 = Z0;
6. 5in; ZEin. OA OB 100

and ACOD ~ AAOB by the SAS
Similarity Theorem. So, by the Polygon

Practice B o CcD 60
1. Possible answer: Because the sun’s rays Similarity Postulate, AB 100’ or CD =
are parallel, BC||DE . ZABC and ZADE 60% of AB.

are congruent corresponding angles, and

ZA is common to both triangles. So _ o
AABC ~ AADE by AA ~. 3. Draw a segment whose length is 20% of

the length of the given segment. Mark off

2. Check students’ work.

2. 5ft9in. 3. 16 ft4in. this new length on the given segment five
4. 10 ft 5. 14 ft times.

6. 2 ft 7. 12 ft? 4. Results of research may vary.

8. 42 mm 9. 90 mm?
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